

02/03/2023

Vendor Ranking Page 1 of 1

Letting: 04230203 February 03, 2023 10:30 AM **Call Order**: 006

Counties: BROWARD Fed Aid No: N/A

District: District 4

Contract Time: 365 CALENDAR DAYS

Project(s): 42426687201 (*)

Contract: E4W27-R0

Contract Desc: BROWARD COUNTY SHOULDER REPAIR/REDRESS

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AGRICULTURAL LAND SERVICES, INC.	Responsive	Winning bid	\$93,789.70	100.00%
2	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$99,526.50	106.12%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$105,121.35	112.08%
4	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$123,826.00	132.03%
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$133,585.00	142.43%
6	DUNOL ENGINEERING CORPORATION	Responsive	Non-Winning Bid	\$328,162,50	349.89%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 02/28/23 BEGIN TIME: 10:30 AM

END DATE: 03/03/23 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$ 125,000.00 and not the contractors bid total.



02/03/2023

Tabulation of Bids Page 1 of 6

Letting: 04230203 February 03, 2023 **Call Order:** 006 **Contract:** E4W27-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 42426687201 (*)

Contract Descr: BROWARD COUNTY SHOULDER REPAIR/REDRESS

The work within this Contract consists of supplying all material, equipment, labor and incidentals necessary to perform non-paved shoulder, slope and roadside ditch repair on the State Roadway System in Broward County.

- MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$125,000.00 and not the contractors bid total.
- PROPOSAL BID GUARANTEE: On proposals over \$150,000 a Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, made payable to the Florida Department of Transportation, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- BUSINESS DEVELOPMENT INITIATIVE (BDI) CONTRACT: Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.
 For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm It is only necessary to submit the Small Business Affidavit (SBA) form once per year. Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department.

The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

• GENERAL LIABILITY: The limits of coverage shall not be less than \$100,000 for each occurrence and not less than a \$300,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.



02/03/2023

Tabulation of Bids Page 2 of 6

Letting:	042	30203 F	ebruary 03, 2	023 Cal	l Order: 006		Contract:	E4W27-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) AGRICULT SERVICE		(2) T & M LA SERVIO		CONSULTING	ANAGEMENT & OF FLORIDA
() indica	ates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
:	SECTION: 0	0001 (REWORK NO	NPAVE SHOULDE	R (AC				
0005 0 EMBANKN	0120 6 MENT		300.000 CY	10.00000	3,000.00	40.00000	12,000.00	18.61000	5,583.00
CLEAN AN	0120 10 21 ND RESHAPE DTH UP TO 18		100.000 , LF	8.95000	895.00	5.00000	500.00	8.61000	861.00
CLEAN AN	0120 10 22 ND RESHAPE DTH 15-30'	DITCH, HAUL	100.000 , LF	11.00000	1,100.00	5.00000	500.00	8.61000	861.00
	E110 2 G & GRUBBIN	G	0.100 AC	9,500.00000	950.00	100.00000	10.00	25,000.00000	2,500.00
0025 E SODDING	E575 1		16,125.000 SY	3.10000	49,987.50	2.10000	33,862.50	2.91000	46,923.75
	E577 70 ER REWORK		10,000.000 SY	1.42000	14,200.00	2.10000	21,000.00	3.01000	30,100.00
	E577 70 1 ING SHOULDE)	ERS (SPOT	15,500.000 SY	1.42000	22,010.00	1.90000	29,450.00	0.91000	14,105.00
	E577 70 2 ING UTILITY S	STRIPS	1,160.000 SY	1.42000	1,647.20	1.90000	2,204.00	3.61000	4,187.60



Florida Department of Transportation Tabulation of Bids

t of Transportation 02/03/2023

Page 3 of 6

Letting:	04230203	February 03, 2	023 C	all Order: 006		Contract:	E4W27-R0	
Line No / Ite		ate Quantity Units		LTURAL LAND CES, INC.		AWN-FENCE		MANAGEMENT & NG OF FLORIDA
	em is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LLC Ext Amount
SEC	TION: 0001	(REWORK NO	NPAVE SHOUL	DER (AC				
0001 RE	0001 REWORK NONPAVE Section Totals: SHOULDER (AC)		\$93,789.70		\$99,526.50		\$105,121.35	
	,							
	Contract	Grand Totals:		\$93,789.70		\$99,526.50		105,121.35



02/03/2023

Tabulation of Bids Page 4 of 6

Letting:	04230203 F	ebruary 03, 20)23 Cal	l Order: 006		Contract:	E4W27-R0	
Line No / Item II	D Alternate		(4) ENVIRONM DEVELO	ENTAL LAND	(5) MIDW CONSTRUC	ESTERN	(6) DUNOL E	NGINEERING PRATION
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I: 0001	(REWORK NO	PAVE SHOULDE	R (AC				
0005 0120 6 EMBANKMENT		300.000 CY	35.00000	10,500.00	20.00000	6,000.00	95.00000	28,500.00
0010 0120 10 20 CLEAN AND RESH DITCH WIDTH UP 1	APE DITCH, HAU	100.000 L, LF	10.50000	1,050.00	6.00000	600.00	85.00000	8,500.00
0015 0120 10 22 CLEAN AND RESH. DITCH WIDTH 15-3	- APE DITCH, HAU	100.000 L, LF	12.50000	1,250.00	8.00000	800.008	130.00000	13,000.00
0020 E110 2 CLEARING & GRUE	BBING	0.100 AC	9,500.00000	950.00	3,500.00000	350.00	20,000.00000	2,000.00
0025 E575 1 SODDING		16,125.000 SY	2,88000	46,440.00	5,00000	80,625.00	8.50000	137,062.50
0030 E577 70 SHOULDER REWO	rk	10,000.000 SY	2.40000	24,000.00	1.50000	15,000.00	5.00000	50,000.00
0035 E577 70 1 REWORKING SHOP REPAIRS)		15,500.000 SY	2.40000	37,200.00	1.50000	23,250.00	5.00000	77,500.00
0040 E577 70 2 REWORKING UTILI	-	1,160.000 SY	2.10000	2,436.00	6.00000	6,960.00	10.00000	11,600.00



Florida Department of Transportation Tabulation of Bids

ment of Transportation 02/03/2023

Page 5 of 6

Letting:	04230203	February 03, 2	023 C	all Order: 006		Contract:	E4W27-R0	
Line No / Item ID Alternate Quantity Item Description Units		ate Quantity Units	(4) ENVIRONMENTAL LAND DEVELOPMENT		(5) MIDWESTERN CONSTRUCTION, INC		(6) DUNOL ENGINEERING CORPORATION	
	em is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	TION: 0001 :WORK NONPAVE SHOULDER (AC)	•	NPAVE SHOULD	PER (AC \$123,826.00		\$133,585.00		\$328,162.50
	Contract	Grand Totals:		\$123,826.00		\$133,585.00		328,162.50



02/03/2023

Tabulation of Bids

Page 6 of 6

Letting: 04230203 February 03, 2023 **Call Order:** 006 **Contract:** E4W27-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.